50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN |

Time: 3 hrs.

LD *AR3+, A

¥ ;ﬁ;:a DSP system, Also draw thg~3 %yp\ical signals in a DSP system.
N (08 Marks)

Implement an IIR filter \;vhgsé;‘géutput is obtained by" klrfg 90% of past output and 10% of
current input. Plot magmtudc ‘and phase response. ()0 (06 Marks)
Determine the interpolated seq nce y(m) if the 1gnal sequence Xx(n), is interpolated using

the interpolation filter sequence bk ,X(n) = »{0‘1 2, 4 6, 8} by = {%,1, ;}and interpolation

fator L = 2. (06 Marks)

Mention the basic architectural features that should be provided by a programmable DSP

device. & ; (06 Marks)

What is the significance of shifter-in D ; .}tecture‘7 Explain the implementation of a 4
AR \/ /™ h

b1t shift-right barrel shlﬁer Qe (08 Marks)

(06 Marks)

(06 Marks)

(06 Marks)
Assuming the current"
following: TMS320C 54>\>< addressing modes in used‘7 »
Assume ARO = 40k, ) {::
i) *AR3-0 ) *AR3+ iii) *AR3 iv) *+AR3 (SOh)
vi) *AR3 - 0B  viii) *AR3 + 0B

viii) * AR3 0. (08 Marks)

Dra%v the loglcal block diagram of timer circuit and explain its operation.
Explam the pipeline operation TMS320C54XX processor, show the pipeline ope

ifollowmg sequence of instructions if the initial value of AR3 is 85h and the valueé ,stb y d in

‘ﬂemory location 85h, 86h, 87h are 5, 6 and 7 respectively

ADD #1000h, A
STL A, * AR3+ , (08 Marks)

1of2




iii) 3.125 as\, 7‘1}
iv) 352 asa @ number

06 Marks)

Explain how bit reversed mde‘< generatlon can be nem an 8-point DFT computation and
Also write on subroutine for bit i reverse address genef:étlon (08 Marks)
Determine the following for a 256 pomthFT compufatlon
i) Number of stages
ii) Number of butterflies in each st ge i
iii) Number of butterflies needed for the’ entlre computation
iv) Number of butterflies that need.no twiddle factor. (04 Marks)
Explain the concept of overflow and se l'ng\ du “m\g butterfly computation. (08 Marks)

f\* .

the signals involved in synchronous serial interface. ‘ (08 Marks)
With the helb .of block diagram, explain DSP based biotelemetry receiver system. (06 Marks)

Explain the\ 1maige compression and reconstruction using JPEG encoder\and decoder
(06 Marks)

K %k ok ok ok
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